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8. a) Describethe for bending a strip making allowance RollNo s
for its spring back. Sketch V-bending die and U-bending AU/ME-405 (GS)
dic. B.Tech. IV Semester
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b} Explain the principle and mechanism of rolling process, Manufactarine Technolo
Give classification of rolling mills. 5 gy
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it T gl i Note: i) Attempt any five questions.
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T i) All questions carry equal marks.
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iit) Draw neat sketch and assume suitable data wherever
you required.
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iv) In case of any doubt or dispute the English version
question should be treated as final. !
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1. a) Explain the elements, working of surface gnading
machine giving a neat sketch and applications, advantages
and limitations.
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b) Explain in detail the specificanons of grinding wheel.
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2. a) How does wheel dressing differ from wheel truing?
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Explain the, working of Centre less grinding with a neat
sketch and applications, advantages and limitations.
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Explain construction and working of Plasma arc
machining and its applications.
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Explain construction and working of Electron beam
machining and its applications.
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Explain in detail the working of friction welding with neat
sketch.
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Define weldability of material and the factors on which
weldability depends.
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What do you understand by yield criteria for ductile
matenals? Find out the rclation between Von Mises and
Tresca's yield crileria.
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How does a compound die differ from a progressive die?
Giving a ncat skeich descnibe constructional features.
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6. A hole of 100 mm is to be punched in a cold rolled medium

carbon stecl plate of 5.6 mm thickness. The ultimate shear
strength of plate material is 550 MPa. With normal clearance
of 10% on the press tool, cutting is completed at 40%
penetration of the punch. Caleulate the die for the punch and
die required for the purposc. Ifthe shop has press of 30 tonnes
capacity. Calculate the shear angle to be provided on the punch
in order to bring the work within the capacity of the existing

press.
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Drive the following expression for pressure distributions (for
sliding friction) for forging of a rectangular block (b * h = w)

b
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and show the variation K- *  wherepis the pressune

at a distance x from centre, K is shear strength of material and
pis the cocfficient of sliding friction, A is the height and b the
width.
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